1. Isotope D W, An awerage-of all the isotopes: the
' mass of average atom.

2. Atomic mass A \% Aunatom with-an equal number of
electrons and protons.

3 Atogucw F
thas protoss.

4. Neutral awm‘z?) 'E\A vananon of an element with a
different number of neuirons.

e

‘ut the puckeus.

’}\ Number of protoas; determines the

& Mass= E b

. An arom with more or less electrons

Give abbreviations and nuinber of protons

Boron { 033 \ \
Selensm 6&} 7 Z
Sibves f AC'\ )] 108
Foyy 2014

Mercury

Calciom (L) 2G .
Potassiuni { L ); ?gq
copper (G ) ©

Zirconiim: ifzg\r 3 q l

Ton C. IR, Total number of protoss and nevirons

7 protons and 10 elecrrons.  Newmel qrom of i)
15 protoms and 15 slecwons. Nentral atoupdr fon?
35 protons and 37 electrons.  MNewrval grom 0
3% protons and 85 élecirons. /Neuiral aforos

Give the slement abbreviation-and chargs:
5 protons and 2 electrons: Element: B Charge: _+3__

16 protons and 18 electrons: Element: i Charge: — N
35 protons xnd 36 electrons: E&emem:%_‘( Charge: _"""\ .

12 protons and 10 electrons: Elenmnt_:% Ci;ar_ge-: 4 2 .

Wiiich ofthe foltowing are isotopes?

_F_Ie'men_ 15 prétons; 15 elecirons; 16 nentrons
Elesient Bs, 14 protoas; 16 elections; 14 nevtrons
Eiemen@l:’z protens: 18 electrons; 13 nevtrons
Element Ty 16-protons: 18 clectrons: 13 nevtrons
Eleme: 15 protons: 18 efectrong; 14 neutrons

What'= wrong with this

Y . e NEVHTON
picture of an atom? 0{

proton

“—— eleciron

Subfnr 32 has [ protens aind 14 nenrons. (37 — fop = I4n)
Magnesiugi 25 has \_%_ protons and i% HEBIrons.
Carboa 14 has _Q;_ 1rotoas and ?{ flentrons.
Lathium 7 333521_ profons and (—{

. - Y 4
Chlore 35 has | ] protoms and [E) BEMTORS.

Fluvorine ¥¥has ﬂ_pmr_;om and | O

IEUHONS.

(eWTons.
Oxvgen 16 has hew many seutrons? l G /tj
Beryllinm 8 has how many nsvitrong? q /d

oM

Boron |1 has how many neutrons?

Arat’s wrong with this
giciure of an Ttome

“———— election

16-has how many

Beryllamm 81 ANy neweoas?

.11 has how many nevifons?
/

Thus picture 15 supposed to
be of 2 newwral atom. Fix it

What 1s wrong with this
picte of an awm?

What ts wrong with this
picture of an atom?

Whiclt vowis Lithiom (L3 m7 2 . Tt bas electrons in levels
Yoand 2

Which row 1s phospherous (’j@’j 7 Z) So. phosphiorous
has efectrons in which slectrontevels? | ,2—-‘4—3

Whith row is caletum (cok\}-in’.’ $o, calcium has
electrons mwhat levels? { . 23

Which row'is argon ﬁ‘f uwr? ‘ > So. argon has electrons
a1 what levels? ] / 2, 3

Argon |@£}753 at the end ofsow _3)_ So argon has 5
fuil electron levels, '

Heloum | _"[]Q_\ 15 af the end of row l_ So heltum has _\
firdl efecirom levels.

XKenon (M 15 atthie end of row 5 - Soxenou has S

full eleciron levels.

How many full elecroti levels does Calclum have? 3

How muany full electron levels does Sulfur have? 9\




